X CEAMICDRAZTER BHRAICEDTHCBBELTIES,

Before beginning assembly, please read these instructions thoroughly!

N

0OT250 1Y% AF— Wing Stay KyOsHO |

BUREERE

0TB247 KF+ /:/'\”\U ~ BOdy / Javelin INSTRUCTION SHEET
\ No.OT250/0TB247

J

BEWLETFHONESTIVWEY, SEMARMICCOIIRGHAEE Y N OBIRGFHAEZEDE TERHA LS L,
Thank you for purchasing this set. Before installation, please carefully read and follow the instructions on this sheet in conjunction with the instruction manual of your kit.

|_VAWASS

WAL YF (2mm) BORSA/N— () @
Hex wrenches (2mm) A Phillips screwdrivers (sizes: S) Scissors Q—H‘—

HZTICRHERY
Tools : Must be prepared

. 0T250 VAVJART—

Wing Stay

1-833010H
FH M3x10mm

0T252/SC224

MIBLEE A,
*Not included.

BE! AEIOEE
Important! Note the direction

FTTARRTABAY A
R-Pin 6mm Optima body cut-line dimensions.

AN \7/ /
)

\ ¢ ) 1
C ) B
¢ ) B
¢ ] | | 31Tmm
—H s
¢ % =V
'y C ) = j‘
5mm —&— 4>L<— 5mm
Y
\ 26mm /

0OT250/0TB247-T01 1i



n OTB247 RF4/Tv AU
BODY / JAVELIN

@ H 0TB247@®

Pivot Screw
012419
Washer M2.6x5x0.5

MATBLEE A
/ *Not included.

1-S33008H
FH M3x8mm p

Washer M2.6x5x0.5

\
0TB247@©
Pivot Screw

1-S13005H
BH M3x5mm

(oot

1-S13010H
BH M3x10mm

0TB247-3A WMD

1-S13010H BH M3x5mm
BH M3x10mm

oTB247-2F1

1-S22608
Cap M2.6x8mm

oTB247-2A1

1-S32606H
FH M2.6x6mm

\ / %OSH

FH M2.6x6mm




[

\ 1-532606H
gé}#p e
1-532606H OTBA47®

FH M2.6x6mm

1-S22608
Cap M2.6x8mm
N

0TB247@®

1-S22608
Cap M2.6x8mm

0TB247@®
PH M2.6x4mm

MBLEEA.
*Not included.

0TB247@®

)

92638
R-Pin 6mm

SAND SUPER P
SAND SUPER A
3 IO
K on

JAVELIN

R-Pin 6mm




Parts List

0T250 OoT251 OT2520R/GR/Y /W
A /

® ©
OR  Orange
GR  Peppermint Green
Y Yellow
Snap Pin 6mm x2 ©m 12 W White
©))mmm x2
Flat Head Sorew (Hexxtg)| | |2t Fead (HexM34@)

OTB2470R/GR/Y /W

Option Parts List
SC224BK/R/YIW

[} ]
BK  Black
R Red
Y Yellow
W White
NI
Small Wing
Y 2 {ke)
SC224BK  Wing (Black/Turbo Scorpion) A (TZvY) 400
SC224R  Wing (Red/Turbo Scorpion) 147 (LyR) 400
SC224Y  Wing (Yellow/Turbo Scorpion) A2 AC Einty) 400
SC224W  Wing (White/Turbo Scorpion) TV (RTAH) 400

%SC224Y L OTB24A7Y EEBHERIEVE T,
*SC224Y and OTB247Y will have slightly different yellow tones.

x10pcs
BH M3x5mm BH M3x10mm R-Pin 6mm x10pcs
1522608 f1 1-522612 |

x5pcs x5pcs
[ oo [ mm
CAP M2.6x8mm CAP M2.6x12mm
1-S32606H g 1-S33008H

x10pcs x10pcs x10pcs
FH M2.6x6mm FH M3x8mm FH M3x10mm

®© Qumwe (©)|me

CAP M2x10mm x10pcs FH TP M2.0x8mm x8pcs ~ FH M2.6x8mm x8pcs

@ "\|\II\I\II\II\|I\||\II\III\I\I\III\I\II\II\II\II\II\I\II © () @ H 0

FH M2.6x14mm xdpcs x8pcs M2.6x5x0.5mm x4pcs

Y M (i)

1-S13005H  Button Screw (Hex/M3x5/10pcs) REVER (M3X5) (N7 R/10A) 300
1-S13010H  Button Screw (Hex/M3x10/10pcs) REVEZ (M3x10) (NYZR/10A) 300
92638 Snap Pin (10pcs) ATy 7EY(10A) 200
1-522608  Cap Screw (M2.6x8/5pcs) FrvTER(M26x8/5M) 200
1-522612  Cap Screw (M2.6x12/5pcs) FryTER(M26x12/5A) 200
1-532606H  Flat Head Screw (M2.6x6/10pcs) HIEZ (M26x6) (NYIR/10A) 300
1-S33008H  Flat Head Screw (Hex/M3x8/10pcs) HFIER (M3x8) (NI A/10A) 300
1-533010H  Flat Head Screw (Hex/M3x10/10pcs) LR (M3x10) (NYZZ/10A) 300

o241 M2/2.6 Screw Set (OPTIMA)

M2/26 Z7\a—ty b (T 74<) 1300

(c]
©( mm e o
. ca
Pivot Screw 2.6x8mm x2 ©) @) .o\
(m © © .
Pan Head Screw (M2.6x4)x2 ~ Washer M2.6x5x0.5 x4 g
. 8
©(m O §
e
Button Screw (Hex/M3x5) x2 Cap Screw (M2.6x8) x12 i
= z
©
Button Screw (Hex/M3x10) x2 Cap Screw (M2.6x12) x1
Flat Head Screw (Hex/M2.6x6) X6~ Snap Pin 6mm x3
OR  Orange
GR  Peppermint Green
Y Yellow
W White
e M (i)
01250 Wing Stay DAV AT~ 750
07251 Aluminum Roll Bar 7Ib=0—jbi\— 1200
OT2520R  Wing (Orange/Javelin) IAVG (FLI I v ) 600
OT252GR  Wing (Peppermint Green/Javelin) TAVG (NIN=Z VN )=2[F%N)Y) 600
0T252Y  Wing (Yellow/Javelin) TAVT ATA—T%N)Y) 600
O0T252W  Wing (White/Javelin) IAVYG (RIA NI Y) 600
OTB2470R  Body (Orange/Javelin) R4 FLVIIHN)Y) 4200
OTB247GR  Bodly (Peppermint Green/Javelin) RTARN=ZN Y= [F+N)Y) 4200
OTB247Y  Body (Yellow/Javelin) RTAAIA—/FvA)Y) 4200
OTB247W  Body (White/Javelin) RTA (RTA NI Y) 4200
2018F5AHFTE
OT252BK  Wing (Black/Javelin) DG (T N)) 600
OT252R Wing (Red/Javelin) 9147 (Ly RAN1) ) 600
OTB247BK  Body (Black/Javelin) RTA(TZV91T4N1)) 4200
OTB247R  Body (Red/Javelin) RTA (LY RIDwR) ) 4200

* FOR JAPANESE MARKET ONLY.

| X=h—iEEDHERREFERL T
RER/CEELHELS S, |
MUBHEDSH, FEBAHRETETBBANHBD T,

*SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.
© Copyright 2017 KYOSHO CORPORATION / EX TR #e 5L

RER—LR—Y
www.kyosho.com

THE FINEST RADIO CONTROL MODELS

REKXSHt

T243-0034 R/ EEARTMTF153

@ 1 —HKEEBELE 046-229-4115

BEWETEIE  AE~BHMREBZR<)13 1 00~19 : 00
PRINTED IN JAPAN



	OT250 Wing Stay OTB247 Body set_1
	OT250 Wing Stay OTB247 Body set_2
	OT250 Wing Stay OTB247 Body set_3
	OT250 Wing Stay OTB247 Body set_4

